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input/output (list)
    list   ::= list, item
             | item
    item   ::= stream
             | stream >> view
             | stream << view
    stream ::= var
             | array[expr]
    expr   ::= var
             | value
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#pragma omp parallel 
{
#pragma omp single
{
  float x;
  float pipeline[2*(int)(log(N))];

  // Generate some input data (or read from a file)
  for(i = 0; i < 2 * N; ++i) {

#pragma omp task output (pipeline[0] << x)
    x = (i % 8) ? 0.0 : 1.0;
  }

  // Reorder stages
  for(j = 0; j < log(N)-1; ++j) {
    int chunks = 1 << j;
    int size = 1 << (log(N) - j + 1);

#pragma omp task
    {
      float X[size];
      float Y[size];

      for (i = 0; i < chunks; ++i) {

#pragma omp task input (pipeline[j] >> X[size])\
                 output (pipeline[j+1] << Y[size])
        {
          for (k = 0; k < size; k+=4) {
            Y[k/2] = X[k];
            Y[k/2+1] = X[k+1];
            Y[(k+size)/2+1] = X[k+2];
            Y[(k+size)/2+2] = X[k+3];
          }
        }
      }
    }
  }

  // DFT

  for(j = 1; j <= log(N); ++j) {

    int chunks = 1 << (log(N) - j);

    int size = 1 << (j + 1);

#pragma omp task {

      float X[size], Y[size];

      float w[size/2];

      // ... compute the coefficients in w[]

      for (i = 0; i < chunks; ++i) {

#pragma omp task input (pipeline[j+log(N)-2] >> X[size]) \

             output (pipeline[j+log(N)-1] << Y[size]) shared (w)

        {

          for (k = 0; k < size/2; k += 2) {

            float t_r = X[size/2+k]*w[k] - X[size/2+k+1]*w[k+1];

            float t_i = X[size/2+k]*w[k+1] + X[size/2+k+1]*w[k];

            Y[k] = X[k] + t_r;

            Y[k+1] = X[k+1] + t_i;

            Y[size/2+k] = X[k] - t_r;

            Y[size/2+k+1] = X[k+1] - t_i;

          }

        }

      }

    }

  }

  // Output the results

  for(i = 0; i < 2 * N; ++i)

#pragma omp task input (pipeline[2*log(N)-1] >> x, stdout) 

                 output (stdout)

    printf ("%f\t", x);

}}

�����������������������������������

��������������������

#pragma omp parallel
#pragma omp single
  for (i = 0; i < N; ++i)
    {
#pragma omp task output (x)
      x = ... ;
#pragma omp task input (x)
      ... = ... x ...;
    }
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int A[K];
#pragma omp parallel
#pragma omp single 
  for (i = 0; i < N; ++i) {
#pragma omp task output (A[0] << x)
      x = ... ;
    }

  for (j = 0; j < K-1; ++j)
#pragma omp task
    {
      for (i = 0; i < N; ++i)
        {
#pragma omp task input (A[j] >> x)\
                 output (A[j+1] << y)
          y = ... x ...;
        }
    }
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int s, R[4], W[6];

input (s >> R[2])

output (s << W[3])

s

R

W
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